# **Construction Permit Application**



|--|

#### **OWNER**

Full Name:		
Address:		
City:	State:	Zip:
Phone Number:		
Email:		

#### **ENGINEER**

Name of Firm:		
Engineer Name:		
CA Civil Engineer License #:	Expiration Date:	
Mailing Address:		
City:	State:	Zip:
Phone Number:		
Email:		

#### **PROPERTY**

Type of Construction:	Project Name:
Subdivision:	
Tract/Parcel/Lot #:	
Street Address:	
Assessor Parcel # (APN):	Link to Parcel Viewer for Mono County

#### CONTRACTOR

Name:	
Phone Number:	
Email:	
Contractor License #:	
Additional Contact & Info:	

Fees: Application fees are as follows: Water; \$50.00, Sewer: \$50.00, Construction Permit Fees are determined according to Division VI of Chapters 11 and 12 of the District Code. An engineer's cost estimate for the improvements may be required to determine fees.

# The owner of the above referenced premises must sign this application.

#### SIGNATURE OF OWNER:

# Section 3: Permit and Plan Checking Fees – Engineering and Landscape

# **Construction Permit Fees**

## Application Fee

Description	Fee
Application Fee	\$50

#### Pre-Plan Check Fees

Meter Size	Water Plan Check Fee	Wastewater Plan Check Fee
3/4"	\$25	\$25
1"	\$42	\$66
1 ½"	\$75	\$114
2"	\$117	\$170
3"	\$196	\$302
4"	\$313	\$562
6″	\$633	\$945

# Plan Checking Fees

#### Water Checking Fees

Water Mains	Fees
1000' or Less	\$75.00
More than 1000'	\$75.00 plus .05/ft over 1000
Hydro-pneumatic Systems	\$50.00 each
Pressure Reducing Systems	\$50
Other Water Facilities	\$1.50 for each \$100 or fractional part thereof the total valuation of the work
Re-checking Fee	\$10.00 Minimum

#### **Wastewater Checking Fees**

Main Line Sewer	Fees
1000' or Less	\$75.00
1001' – 2000'	\$75.00 plus \$0.05/ft over 1000 ft.
2001' - 3000'	\$125.00 plus \$0.05/ft. over 2000 ft.
3001' - 4000'	\$175.00 plus \$0.04/ft. over 3000 ft.
4001' - 5000'	\$215.00 plus \$0.04/ft. over 4000 ft.
5001' – 6000'	\$255 plus \$0.03/ft. over 5000 ft.
6001' - 7000'	\$285 plus \$0.03/ft. over 6000 ft.
7001' – and up	\$315.00 plus \$20.00/1000' or portion thereof
Pumping Plants	\$75.00
Interceptors	\$20.00
Other Facilities	\$1.50 for each \$100.00 or fraction thereof of the total valuation of the work

If any portion of the plans, after having been checked, are required to be redrawn or rechecked, as a result of additional footage of main line sewer, the applicant shall pay a rechecking fee based on \$0.05 per foot of additional main line sewer. However, there will be a minimum rechecking fee of \$10.00 No plan checking will be done until the required rechecking fee is paid.

#### **Construction Permit Fees**

#### Water Construction Permit Fees

Water Mains	Fees
50' or Less	\$40.00
50' to 350'	\$40.00 plus \$1.30/ft. over 50 ft.
350' to 1350'	\$130.00 plus \$0.20/ft. over 350 ft.
Over 1350'	\$330.00 plus \$0.15/ft. over 1350 ft.
Pressure Reading Stations	\$40.00
Pumping Plant	\$50.00
Hydro-pneumatic system	\$50.00 each
Water Connection at Property Line	\$25.00 each
Water Tap to Main	\$40.00 each Structure
Inspection	\$25.00 per building

For other items of construction, not identified above, which relate to the District's water system, the applicant shall pay, in addition to the fees specified above, a fee of \$1.50 for each \$100 or fractional part thereof, of the total valuation of the items subject to this subsection.

Main Line Sewer	Fees
50' or Less	\$40.00
50' to 350'	\$40.00 plus \$0.40/ft. over 50 ft.
350' to 1350'	\$160.00 plus \$0.30/ft. over 350 ft.
Over 1350'	\$460.00 plus \$0.15/ft. over 1350 ft.
Manhole Reconstruction	\$25.00
Pumping Stations	\$25.00
Pre-Treatment Facilities	\$25.00
Interceptors	\$25.00
House Laterals in Street	\$40.00
House Connection at Property Line	\$25.00
Structure Inspection	\$25.00 Per Building

#### Wastewater Construction Permit Fees

For other items of construction, not identified above, which relate to the District's water system, the applicant shall pay, in addition to the fees specified above, a fee of \$1.50 for each \$100.00 or fractional part thereof, of the total valuation of the items subject to this subsection.

#### Fees for Processing Water or Sewer Line Easements

Description	Fee
First Parcel Description	\$40
Each Additional Parcel Description	\$30
Re-write of Description for Realignment or Revision	\$30
Inspection Fees	

Description	Fee
Inspection	\$25 per Inspection

# **Connection Permit Fees**

**Application Fees** 

Description	Fee
Application Fee	\$50

### Water and Wastewater Connection Fees

Meter Size	Water Connection Charge	Wastewater Connection Charge
3/" /4	\$7,924	\$3,427
1″	\$13,206	\$9,010
1 1⁄2″	\$26,412	\$17,553
2″	\$42,260	\$32,899
3″	\$92,444	\$69,068
4″	\$166,400	\$140,293
6″	\$369,779	\$245,401
8″	\$633,906	

### Fees for District Installation of House Laterals

House Lateral Installation – Case I – Case II				
	Quantity	Unit	Unit Cost	Item Total
Excavation	22	C.Y.	\$5.00	\$110.00
Pipe Material & Installation	30	L.F.	\$7.00	\$210.00
Bedding	4	C.Y.	\$9.50	\$38.00
Backfill	18	C.Y.	\$6.50	\$117.00
A.C. Pavement Repair	60	Sq.Ft.	\$1.50	\$90.00
TOTAL Cost				\$565.00
TOTAL Amount – Deposit				\$565.00

## Inspection Fees

Description	Fee
Inspection	\$25 per Inspection

# Landscape Fees and Charges

Description	Fee
New and Existing Customers	
Application Fee	\$25
Inspection Fee	\$50
Meter, Plumbing and Backflow Prevention	
Device Landscape Plan Check Fee	\$30
Existing Landscape	
Plan Check and Inspection Fee	\$30

# Other Engineering Fees

Description	Fee
Estimated Cost of Preparing Study	Minimum \$100
Study Prepared by Others	Minimum \$50